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READING

Notes on the Marking Scheme

Non-verbal Answers

Follow the mark scheme as set out.

Verbal Answers (English or Target Language)

1. The basic principle of assessment is that candidates should gain credit for what

they know, understand and can do.  The following guidance should be borne in

mind when marking.

(a) Credit should be given for all answers which convey the key idea

required intelligibly and without ambiguity.  This applies whether the

answer is in English or in the target language.  A separate assessment of

spelling, punctuation and grammar is not required on these papers

because of the nature of the answers.  However, these aspects are an

integral part of assessing communication and marks cannot be awarded

where errors in spelling, punctuation or grammar lead to a failure to

communicate the required information without ambiguity.

(b) Where a candidate has given alternatives or additional information in

answer, the following criteria should be applied:

- if the alternative/addition does not contradict the key idea or

make it ambiguous, accept;

- if the alternative/addition contradicts the key idea or makes it

ambiguous, reject.

(c) Where numbered lines are given within a question/section of a question,

credit should be given for correct answers, no matter which line they

appear on.

(d) Where a question has more than one section, a candidate may include as

part of the answer to one section the information required to answer

another section.  For instance, the information required to answer section

(b) might be given as part of the answer to section (a).  In such cases,

credit should be given for having answered section (b), provided that no

answer has been given for that section in the correct place.

(e) Where a question or part of a question carries more than one mark,

candidates are given credit for all the correct answers they give, even if

they have given incorrect answers as well, except where any of the latter

contradicts a correct answer that they have given.

2. ...../..... means that these are acceptable alternative answers.  (.....) means that this

information is not needed for full marks.
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Reading Test

Foundation Tier

Question Key Idea Accept Mark Reject

1 C Only C 1 A, B, D

2 (a

)

(b)

(c)

(d)

Mum & Dad

Baljinder’s house

Play on play-station

Three hours

One correct answer:

Mum/Dad

Friend’s house / See his

friends /

Play with Baljinder

11 - 2

1

1

1

1

Gone out

Play

3 (a)

(b)

Go out on picnic

Mum, Dad  & Brother

Picnic

Any two

1

1

Go out

Mum/Dad/

Brother  (On

its own)

4 (a)

(A)
(e)

irSqydwrW nUM imilAw [

mOsm.
DuMd bhuq sI [
TMf bhuq sI [

DuMd / TMf

One of two

1

1

1

irSqydwr

5 4

1

2

5

6

1

1

1

1

1

More than one

answer for

each is wrong

6 (a)
(A)
(e)
(s)
(h)

swieMs
pI. eI. jW itaUtr lYsn
lYsn/pIrIAf 5
PrYNc
somvwr Aqy mMglvwr

One of two

5 / AwKrI

Both days needed

1

1

1

1

1 One correct

day

7 T
?
g
T
T

1

1

1

1

1
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Question Key Idea Accept Mark Reject

8 (a)

(A)
(e)
(s)
(h)

ivswKI mnwaux leI /dI KuSI iv̀c

26 ApRYl  (Su`krvwr)
cwr (GMty)
pMj pONf
mlkIq isMG
sqivMdr ib̀tI
pMjwb BMgVw gru`p

ivswKI leI / krky
ivswKI dI KuSI iv`c
26 ApRYl
6 – 10 vjy

One of three

1

1

1

1

1

ivswKI

Su`krvwr /ApRYl

pMj / pMj rupey

mlkIq
sqivMdr
BMgVw gr̀p

9 2 Only 2 1

10 (a)

(A)

•  (b`icAW) dI pVHweI qy
(cMgw) Asr pYNdw hY [

•  cMgI qrHW pVHwieAw jw
skdw hY [

•  cMgI qrHW is`iKAw jw
skdw hY [

•  AiDAwpk nUM iDAwn nwl
suixAw jw skdw hY [

•  AOKIAW g`lW smJ
AwauNdIAW hn [

pVHweI iv̀c ip`Cy rih jWdy hn [

Any three of five 3

1

Negative

version of

answers

without

clarification

Total 35
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Reading Test

Higher Tier

Question Key Idea Accept Marks Reject

1 (a)
(A)
(e)
(s)
(h)

ivswKI mnwaux leI /dI KuSI iv̀c
26 ApRYl  (Su`krvwr)
cwr (GMty)
pMj pONf
mlkIq isMG
sqivMdr ib̀tI
pMjwb BMgVw gru`p

ivswKI leI / krky

6 – 10 vjy

One of three

1

1

1

1

1

ivswKI

Su`krvwr /ApRYl

pMj / pMj rupey

mlkIq

sqivMdr

BMgVw gru`p

2 T
?
g
T
T

1

1

1

1

1

3 (a)

(A)

•  (b`icAW) dI pVHweI qy
cMgw Asr pYNdw hY [

•  cMgI qrHW pVHwieAw jw
skdw hY [

•  cMgI qrHW is`iKAw jw
skdw hY [

•  AiDAwpk nUM iDAwn nwl
suixAw jw skdw hY [

•  AOKIAW g`lW smJ
AwauNdIAW hn [

pVHweI iv̀c ip`Cy rih jWdy hn [

Any three of five 3

1

Negative

version of

answers

without

clarification

4 10

8

11

2

1

1

1

1

1

1
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7

3

4

9

1

1

1

1
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Question Key Idea Accept Mark Reject

5 (a)

(A)

(e)

(s)

(h)

•  v`fw hY [

•  kuVIAW qy muMifAW dw sWJw
skUl hY [

•  v`K v`K DrmW

•  Aqy s`iBAwcwrW dI ie`zq
kIqI jwvy [

•  v`K v`K iqauhwr mnwey
jwx [

•  nslvwd (bhuq) G̀t hY [

•  nslvwdI GtnwvW nUM
gMBIr smiJAw jWdw hY
Aqy

•  qyzI qy soJI/ cMgI qrHW
nwl inptwieAw jWdw hY[

•  eySIAn AiDAwpkW dI
igxqI iv̀c vwDw kIqw
jwvygw [

•  ividAwrQI ieMtrivaU
pYnl iv`c ih`sw lYxgy

•  A sensible reason

•  A sensible solution

One of two

Any two of three

Any two of three

1

2

2

2

2

mltIklcrl

6 (a)

(A)

- bYTx/sOx leI jgHw bhuq
huMdI hY [

- ivAwh / AKMf-pwT vyly
AOKw nhIN hoxw pYNdw [

- PrnIcr bhuq r`K skdy
hW [

- srdI iv̀c CyqI grm
nhIN huMdw

- sw& krn leI bhuq smW

Any two of three

Any two of four

2

2
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l`gdw hY [

- ib`l izAwdw AwauNdy hn
[

- pRwhuxy rwq rihx leI
AwauNdy hn [
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Question Key Idea Accept Marks Reject

7 (a)

(b)

(c)

(d)

(e)

•  Both liked the film

•  Both think it is

emotional/sad

•  Does not have a

(significant) story

•  Does not have any

action

•  Changed her

thinking/attitude

•  Made her love and

respect her parents

more

•  It is representative of

Asian father who

•  Love their children but

not always express it

•  Parents are not always

right

•  Children are not

always wrong

•  Children can show

parents the right path

•  Being stubborn does

not achieve anything

•  Open/ good

communication and

love can solve

problems.

One of two

Any two of five

1

1

1

1

1

1

1

2

Total 45




